SIDEWALK REHABILITATION & WHEELCHAIR RAMPS FY 19

Owner: City of Hayward

OWIN	er: City of Hayward			For all a souls Fasting	-1-	C C	tian las	Caldan Ban Ca	
Bid Or	pening: 10/17/2018		* marks an allowance	Engineer's Estim	ate	Spencon Construc	tion, inc.	Golden Bay Co	nstruction
mans an anowance					4115 Blackhawk Pl	aza Circle #100	3826 Depot Rd.		
						Danville, CA 94506		Hayward, CA 9	
						US		US	
						Bidder Status: Val	id	Bidder Status:	Valid
						Diddel Status: Vall		Diade: Status:	vana
Bid Ite	em List								
	Item Description	Quantity	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Tota
1	Minor Concrete (Remove and Replace	6871		\$35.00	\$240,485.00	\$14.00	\$96,194.00	\$19.00	\$130,549.0
2	2 Minor Concrete (Remove and Replace	513	SF	\$40.00	\$20,520.00	\$15.00	\$7,695.00	\$21.00	\$10,773.0
	Minor Concrete (Remove and Replace								
3	Standard Concrete Curb and Gutter)	356	LF	\$85.00	\$30,260.00	\$60.00	\$21,360.00	\$75.00	\$26,700.0
,	4 6-Inch Deep AC Conform	1068	CE	\$13.00	\$13,884.00	\$14.00	\$14,952.00	\$20.00	\$21,360.0
- 4	6-IICH Deep AC COMOTH	1008	ЭF	\$15.00	\$15,664.00	\$14.00	\$14,952.00	\$20.00	\$21,360.0
5	Stump and Root Removal	2	EA	\$400.00	\$800.00	\$300.00	\$600.00	\$575.00	\$1,150.0
	Remove Plain or Exposed Aggregate								
	Concrete & Brick Tile	278		\$10.00	\$2,780.00		\$1,390.00		\$1,390.0
7	7 Salvage and Respread Decorative Stones	78	SF	\$8.00	\$624.00	\$10.00	\$780.00	\$8.00	\$624.0
8	3 24-inch Box Size tree		EA	\$1,600.00	\$20,800.00	\$750.00	\$9,750.00	\$1,100.00	\$14,300.0
ç	Root Barrier Installation	686		\$20.00	\$13,720.00	\$20.00	\$13,720.00	\$17.00	\$11,662.0
10	Turf (Sod)	474	SF	\$8.00	\$3,792.00	\$6.00	\$2,844.00	\$11.00	\$5,214.0
11	In-Place Compacted Topsoil	5	CY	\$50.00	\$250.00	\$175.00	\$875.00	\$325.00	\$1,625.0
12	Tree Removal	8	EA	\$4,000.00	\$32,000.00	\$1,250.00	\$10,000.00	\$1,581.00	\$12,648.0
13	Root Prune Existing Tree	74	EA	\$350.00	\$25,900.00	\$150.00	\$11,100.00	\$250.00	\$18,500.0
14	Tree Trimming	71	EA	\$650.00	\$46,150.00	\$350.00	\$24,850.00	\$325.00	\$23,075.0
15	Irrigation Pipe and Sprinkler Heads	118	LF	\$12.00	\$1,416.00	\$25.00	\$2,950.00	\$20.00	\$2,360.0
	Minor Concrete Curb Ramp with Truncated								
16	Dome	3630	SF	\$45.00	\$163,350.00	\$23.00	\$83,490.00	\$24.50	\$88,935.0
17	7 Grind AC Pavement	36	SF	\$15.00	\$540.00	\$30.00	\$1,080.00	\$16.00	\$576.0
18	Arborist (Supervision Each Location)		EA	\$550.00	\$40,700.00	\$250.00	\$18,500.00	\$130.00	\$9,620.0
19	Recycling Implementaiton	1	LS	\$2,029.00	\$2,029.00	\$500.00	\$500.00	\$455.00	\$455.0
Bid Lis	t Total		•		\$660,000.00		\$322,630.00		\$381,516.0
Total E	Bid Amount				\$660,000.00		\$322,630.00		\$381,516.0

				Engineer's Esti	mate	Rosas Brothers	Construction	JJR Construction, Inc.	
						4731 Coliseum	Way	1120 Ninth Ave	2.
					PO Box 786		•	San Mateo, CA 94402	
						Oakland, CA 94	601	US	
						Bidder Status:	Valid	Bidder Status:	Valid
Bid Ite	m List								
	Item Description	Quantity	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
	Minor Concrete (Remove and Replace	6871		\$35.00	\$665.00	\$18.00	\$123,678.00		\$144,291.00
2	Minor Concrete (Remove and Replace	513	SF	\$40.00	\$840.00	\$22.00	\$11,286.00	\$33.50	\$17,185.50
	Minor Concrete (Remove and Replace								
3	Standard Concrete Curb and Gutter)	356	LF	\$85.00	\$6,375.00	\$100.00	\$35,600.00	\$82.15	\$29,245.40
4	6-Inch Deep AC Conform	1068	SF	\$13.00	\$260.00	\$15.00	\$16,020.00	\$17.85	\$19,063.80
5	Stump and Root Removal	2	EA	\$400.00	\$230,000.00	\$1,000.00	\$2,000.00	\$550.00	\$1,100.00
	Remove Plain or Exposed Aggregate								
6	Concrete & Brick Tile	278	SF	\$10.00	\$50.00	\$14.00	\$3,892.00	\$4.50	\$1,251.00
7	Salvage and Respread Decorative Stones	78	SF	\$8.00	\$64.00	\$20.00	\$1,560.00	\$7.00	\$546.00
8	24-inch Box Size tree	13	EA	\$1,600.00	\$1,760,000.00	\$1,000.00	\$13,000.00	\$880.00	\$11,440.00
9	Root Barrier Installation	686	LF	\$20.00	\$340.00	\$30.00	\$20,580.00	\$27.50	\$18,865.00
10	Turf (Sod)	474	SF	\$8.00	\$88.00	\$14.00	\$6,636.00	\$6.60	\$3,128.40
11	In-Place Compacted Topsoil	5	CY	\$50.00	\$16,250.00	\$300.00	\$1,500.00	\$220.00	\$1,100.00
	Tree Removal	8	EA	\$4,000.00	\$6,324,000.00	\$5,000.00	\$40,000.00		\$26,400.00
13	Root Prune Existing Tree		EA	\$350.00	\$87,500.00	\$150.00	\$11,100.00	\$250.00	\$18,500.00
	Tree Trimming	71	EA	\$650.00	\$211,250.00	\$650.00	\$46,150.00	\$1,100.00	\$78,100.00
15	Irrigation Pipe and Sprinkler Heads	118	LF	\$12.00	\$240.00	\$20.00	\$2,360.00	\$22.00	\$2,596.00
	Minor Concrete Curb Ramp with Truncated								
16	Dome	3630		\$45.00	\$1,102.50	\$33.00	\$119,790.00	\$32.50	\$117,975.00
17	Grind AC Pavement	36	SF	\$15.00	\$240.00	\$50.00	\$1,800.00	\$80.00	\$2,880.00
18	Arborist (Supervision Each Location)	74	EA	\$550.00	\$71,500.00	\$200.00	\$14,800.00	\$200.00	\$14,800.00
19	Recycling Implementaiton	1	LS	\$2,029.00	\$923,195.00	\$1,000.00	\$1,000.00	\$0.01	\$0.01
Bid Lis	Bid List Total				\$660,000.00		\$472,752.00		\$508,467.11
Total E	Total Bid Amount				\$660,000.00		\$472,752.00		\$508,467.11

Empire Engine	eering & Construction,		
Empire Engine	paring & Construction		
Funite and Fating to	pering & Construction		
Engineer's Estimate Kerex Engineering Inc.	cering & construction,		
Inc.			
PO Box 23831 180 Mendell S	Street		
Pleasant Hill, CA 94523 San Francisco,	San Francisco, CA 94124		
US US			
Bidder Status: Valid Bidder Status:	Bidder Status: Valid		
Bid Item List			
Item # Item Description Quantity Unit of Measure Unit Price Item Total Unit Price Item Total Unit Price	Item Total		
1 Minor Concrete (Remove and Replace 6871 SF \$35.00 \$735.00 \$28.00 \$192,388.00 \$25.00			
2 Minor Concrete (Remove and Replace 513 SF \$40.00 \$1,340.00 \$30.00 \$15,390.00 \$25.00	\$12,825.00		
Minor Concrete (Remove and Replace			
3 Standard Concrete Curb and Gutter) 356 LF \$85.00 \$6,982.75 \$150.00 \$53,400.00 \$75.00	\$26,700.00		
4 6-Inch Deep AC Conform 1068 SF \$13.00 \$232.05 \$35.00 \$37,380.00 \$12.00	\$12,816.00		
5 Stump and Root Removal 2 EA \$400.00 \$220,000.00 \$2,000.00 \$4,000.00 \$500.00	\$1,000.00		
Remove Plain or Exposed Aggregate			
6 Concrete & Brick Tile 278 SF \$10.00 \$45.00 \$20.00 \$5,560.00 \$12.00	\$3,336.00		
7 Salvage and Respread Decorative Stones 78 SF \$8.00 \$56.00 \$20.00 \$1,560.00 \$150.00	\$11,700.00		
	. ,		
8 24-inch Box Size tree 13 EA \$1,600.00 \$1,408,000.00 \$2,500.00 \$32,500.00 \$1,500.00			
9 Root Barrier Installation 686 LF \$20.00 \$550.00 \$10.00 \$6,860.00 \$60.00	' '		
10 Turf (Sod) 474 SF \$8.00 \$52.80 \$12.00 \$5,688.00 \$18.00			
11 In-Place Compacted Topsoil 5 CY \$50.00 \$11,000.00 \$500.00 \$2,500.00 \$300.00	\$1,500.00		
12 Tree Removal 8 EA \$4,000.00 \$13,200,000.00 \$2,000.00 \$16,000.00 \$5,000.00			
13 Root Prune Existing Tree 74 EA \$350.00 \$87,500.00 \$37,000.00 \$500.00	\$37,000.00		
14 Tree Trimming 71 EA \$650.00 \$715,000.00 \$200.00 \$14,200.00 \$700.00	\$49,700.00		
15 Irrigation Pipe and Sprinkler Heads 118 LF \$12.00 \$264.00 \$50.00 \$5,900.00 \$120.00	\$14,160.00		
Minor Concrete Curb Ramp with Truncated			
16 Dome 3630 SF \$45.00 \$1,462.50 \$40.00 \$145,200.00 \$41.00			
17 Grind AC Pavement 36 SF \$15.00 \$1,200.00 \$50.00 \$1,800.00 \$25.00			
18 Arborist (Supervision Each Location) 74 EA \$550.00 \$110,000.00 \$100.00 \$7,400.00 \$450.00	\$33,300.00		
19 Recycling Implementation 1 LS \$2,029.00 \$20.29 \$5,000.00 \$5,000.00 \$10,266.00	\$10,266.00		
Bid List Total \$660,000.00 \$589,726.00	\$645,000.00		
Total Bid Amount \$660,000.00 \$589,726.00	\$645,000.00		

			1						
			Engineer's Esti	mate				_	
						Construction Inc.		il Constructors, Inc.	
					550 Greenville		4950 Allison Parkway, Ste A Vacaville, CA 95688 US		
					Livermore, CA	94550			
					US				
					Bidder Status: Valid		Bidder Status: Valid		
Bid Item List									
Item # Item Description		Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	
1 Minor Concrete (Remove and Replace	6871		\$35.00	\$875.00	\$34.00	\$233,614.00		\$322,937.00	
2 Minor Concrete (Remove and Replace	513	SF	\$40.00	\$1,000.00	\$39.00	\$20,007.00	\$63.00	\$32,319.00	
Minor Concrete (Remove and Replace									
3 Standard Concrete Curb and Gutter)	356	LF	\$85.00	\$6,375.00	\$89.00	\$31,684.00	\$175.00	\$62,300.00	
4 6-Inch Deep AC Conform	1068	CE	\$13.00	\$156.00	\$22.00	\$23,496.00	\$50.00	\$53,400.00	
4 o-men beep Ac comorni	1008	31	\$13.00	\$130.00	\$22.00	\$23,430.00	\$30.00	\$33,400.00	
5 Stump and Root Removal	2	EA	\$400.00	\$200,000.00	\$730.00	\$1,460.00	\$634.00	\$1,268.00	
Remove Plain or Exposed Aggregate									
6 Concrete & Brick Tile	278	SF	\$10.00	\$120.00	\$10.00	\$2,780.00	\$15.00	\$4,170.00	
7 Salvage and Respread Decorative Stones	78	SF	\$8.00	\$1,200.00	\$12.00	\$936.00	\$49.00	\$3,822.00	
8 24-inch Box Size tree	12	EA	\$1,600.00	\$2,400,000.00	\$1,454.00	\$18,902.00	\$317.00	\$4,121.00	
9 Root Barrier Installation	686		\$20.00	\$1,200.00	\$29.00	\$19,894.00	 	\$24,696.00	
10 Turf (Sod)	474		\$8.00	\$1,200.00	\$23.00	\$11,376.00		\$1,422.00	
11 In-Place Compacted Topsoil		CY	\$50.00	\$15,000.00	\$300.00	\$1,500.00		\$1,685.00	
12 Tree Removal		EA	\$4,000.00	\$20,000,000.00	\$3,030.00	\$24,240.00		\$6,080.00	
13 Root Prune Existing Tree		EA	\$350.00	\$175,000.00		\$19,240.00		\$9,398.00	
14 Tree Trimming		EA	\$650.00	\$455,000.00	\$970.00	\$68,870.00	ļ —	\$35,997.00	
15 Irrigation Pipe and Sprinkler Heads	118		\$12.00	\$1,440.00	\$90.00	\$10,620.00	 	\$29,854.00	
Minor Concrete Curb Ramp with Truncated						,		· · · · · · · · · · · · · · · · · · ·	
16 Dome	3630	SF	\$45.00	\$1,845.00	\$41.00	\$148,830.00	\$24.00	\$87,120.00	
17 Grind AC Pavement	36	SF	\$15.00	\$375.00	\$33.00	\$1,188.00		\$900.00	
18 Arborist (Supervision Each Location)		EA	\$550.00	\$247,500.00	\$350.00	\$25,900.00	\$126.00	\$9,324.00	
19 Recycling Implementaiton		LS	\$2,029.00	\$20,829,714.00	\$500.00	\$500.00		\$6,000.00	
Bid List Total				\$660,000.00		\$665,037.00		\$696,813.00	
Total Bid Amount				\$660,000.00		\$665,037.00		\$696,813.00	

				Engineer's Esti	mate	Sposeto Engin	eering Inc.			
								R&S Construc	tion Management Inc.	
						4558 Contract	ors Place	1555 Burke Av	ve. Ste 1	
						Livermore, CA	94551	San Francisco,	CA 94124	
						US		US		
						Bidder Status: Valid		Bidder Status: Valid		
Bid Ite	em List									
	Item Description	Quantity	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	
	Minor Concrete (Remove and Replace	6871		\$35.00	\$1,645.00	\$34.00	\$233,614.00	\$50.00	\$343,550.00	
2	Minor Concrete (Remove and Replace	513	SF	\$40.00	\$2,520.00	\$34.00	\$17,442.00	\$50.00	\$25,650.00	
	Minor Concrete (Remove and Replace									
3	Standard Concrete Curb and Gutter)	356	LF	\$85.00	\$14,875.00	\$111.00	\$39,516.00	\$150.00	\$53,400.00	
/	6-Inch Deep AC Conform	1068	SE	\$13.00	\$650.00	\$23.00	\$24,564.00	\$55.00	\$58,740.00	
	o men beep ne comorm	1000	51	713.00	7030.00	\$25.00	ÇZ-1,30-1.00	\$33.00	\$30,740.00	
5	Stump and Root Removal	2	EA	\$400.00	\$253,600.00	\$630.00	\$1,260.00	\$44.00	\$88.00	
	Remove Plain or Exposed Aggregate									
	Concrete & Brick Tile	278		\$10.00	\$150.00	\$10.00	\$2,780.00	\$100.00	\$27,800.00	
7	Salvage and Respread Decorative Stones	78	SF	\$8.00	\$392.00	\$12.00	\$936.00	\$100.00	\$7,800.00	
	3 24-inch Box Size tree	12	EA	\$1,600.00	\$507,200.00	\$1,000.00	\$13,000.00	\$1,350.00	\$17,550.00	
		686							·	
	Root Barrier Installation Turf (Sod)	474		\$20.00 \$8.00	\$720.00	\$32.00 \$7.70	\$21,952.00		\$37,730.00	
	` '		CY		\$24.00	· ·	\$3,649.80		\$9,480.00	
	In-Place Compacted Topsoil Tree Removal		EA	\$50.00	\$16,850.00		\$2,500.00		\$1,500.00	
	Root Prune Existing Tree		EA	\$4,000.00 \$350.00	\$3,040,000.00 \$44,450.00		\$32,000.00 \$48,470.00		\$40,000.00 \$33,300.00	
	Tree Trimming		EA	\$650.00	\$329,550.00	·	\$91,235.00		\$46,150.00	
	Irrigation Pipe and Sprinkler Heads	118		\$12.00	\$3,036.00		\$3,068.00		\$35,400.00	
13	Minor Concrete Curb Ramp with Truncated	110	LI	\$12.00	\$3,030.00	\$20.00	Ş3,006.00	\$300.00	⊋ээ, 4 00.00	
16	Dome	3630	SE	\$45.00	\$1,080.00	\$40.00	\$145,200.00	\$35.00	\$127,050.00	
	Grind AC Pavement		SF	\$15.00	\$1,080.00		\$143,200.00		\$127,030.00	
	Arborist (Supervision Each Location)		EA	\$15.00	\$69,300.00	· ·	\$2,160.00		\$10,800.00	
			LS	\$550.00		\$400.00		· ·	\$22,200.00	
	Recycling Implementaiton	1	LJ	\$2,029.00	\$12,174,000.00		\$7,000.00			
	t Total				\$660,000.00		\$720,360.80		\$883,980.00	
Total E	Bid Amount				\$660,000.00		\$719,946.80	ĺ	\$903,188.00	